goboboooobooodan

(L.ooooo )

U0 X, YOUUD X=YOOuoububUzeXUOUOOOzeY UOOOO
DbO0DyeYUOOUODyeXUOOOODOOOOOOODODO XCYOOY CX
goooobobbboboboboobobbbbbbbotbdooooooooooooon
goo

(II. 00 XO0O0OYODOODOOD f: X —-YOOoooo )

f: X —=YOOO (surjective) 0000000 yeYOOOOO f(x)=yO0OO
D00 zeXOUOOOOOOOOOOOOOOOOO

f: X —->Y0OOO (injective) D00z, 2o € XOO OO f(z1) = f(ae) €Y OO
000z, =2, 000000, =2, € XO00O0O f(21) = flzx) €eYODOO fO00
oot oooooood

Notes. (i) X cYOOOOO0OO0O000000¢:X —»Y;z—z=i(z), 00000
0000000000000000000000000000000000000
00000G)00000i:X >Y,z—i(z) 00000000000MO000
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0O0DX0YOOOODOOOOOOOOOO0OO00000000
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(III. D000 XxYOOOOOOOprx: XxY —->X0Opry: XxY —>Y)

00 X,YOOOO XO0D020Y OO y0OO (2,9) 0000000
XxY={(z,y) |ze X, yeY}
OXoOYOouoououoouoouoouooooooooooooo
prx : X xY — X;  (z,y) — 2 =prx((z,y))
0000000 (pry 000)0000 pry O pry 0000000 (projections) O O
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Notes. (i) YOO ecYOOOOOOODODOOOOODDODODODOOODODODOOO
O000wx : X - XxY;2— (z,e) =1x(x), 000000000000 1x O
O00000000(G) Y =X0000O00oooooooOd A:X — X x X;
2 (z,2) =A(z),0 0000000000000 ADDODODOOOO (diagonal
map) 000000 (i), (1)) 0000000000 0eeYD0OOD0O00OODOODO
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00000000000000000~0000000002zeX0000000
C(x)0O

Clx)={ye X |y~ux}

000 XO00OOOOOO0O0OO0O0O00C(x)000000000000000000
(i), (i), (i) 000000000

1.000zeX0000zeC(zx)0000



2. 2~y000 Cz)=C(y) 0000000

3. C(x)NC(y) #0000 C(z) =C(y) 0000000 00000000 C(x)
0y0000C(y)0OOOD0DO000000000000000000000000
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O000000000000000000000 yYyoooo JJoooooooooo
Ooboooooooobobo ~000 X0OO0bhooooobooobooooo
000000000000000000000000O0O0O0 X/ ~00000XDO
bbb ~000000boodao

X/ ~={C(x) |z € X}.
guooooooobn
7T X > X/~ x—a(z)=C(x)

000000 X/~00000000000000000000000
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